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HIERT dYT HIAT U 3GI8¥0T U9 UY TR Examples of
Molarity and Molality

Examples question answer of Molarity and Molality HIeRdl 9T Hidleldl IR 3aTeR0l Ud Uy
3N —
U 1:5.85 % W /V NaCl fa@a= & HieRdT 91 Sifoh |
I : 5.85 % W /V NaCl fdaa &1 31 g
100 m! fa@T # 5.85 T FHG (NaCl ) G g3 & |
HIeRdr (M) = a0 T UM H YR / UUR x faaaH &1 3aaH (dfiex 7))
HiaRdT (M) =5.85 / 58.5 X 100/1000
M=58.5/585=1M
U4 2 : 10% W/W H,S0,, f[acig &1 977 1.02 ¥ Ufd ml & dl 1 B
1. ATl
o, HiaRdl
3. H,SO, & HId
4. H20$Iﬁ?1'
5. H,SO, & 3iX
6. H,Ob 3=
3R : (1) 10% w/w H2804ﬁﬂ?ﬂﬁ G{ﬁ%
100 UTH STeid faer™ = & 10 91 H,S0,, g1 g3 &
3{d: faeig T YR 10 UH
fadma® &1 UR 100-10 = 90 UTH
Hiaedr (m) = [T HTUHH UR / AR x famae® &1 UR (kg H)
m =10 /98 X 90/1000
m = 1000 / 882 =1.1337 m
(2) ARl (M) = A T UM H YR / UHR x faera &1 3aa- (aiex §)
3T &1 ST MY TSR ¥ J1d Hd §
d=M/V
v=M/d
v =100 / 1.02 JH
v =98.0392
37c: AR = 10 / 98 x 100 /98.0392
M =102 /98 =1.04 m

(3) ngoso4 =10/98 = 0.1 od
(4) ny.0 = 90/18 = 5 mol

(5) XH2504 = NH2S04/ NH2804+ NH20
:=(5)..1do.1 +5
(6) XH20 = NH20 /IH20 + NH2504

= é{/§g1+0.1
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U4 3 : I 10% w/w 100 TTH STl H,SO,, BT 97 1.84 IH Ufd ml § ol H,SO,, I Hideidl J1d
I, H,S0, HT HITR ST 98 B
I : 10% w/w 100 UTH STAadead & IufRd B
10 UM H,S0,, 3R 9o U e AR 100 UTH faerH o1 FHHi0 avd &
TAAdT (m) = [T BTIE T YR / UUR x IS BT UR (kg H)
m =10 /98 x90 / 1000
m = 1.133786 m
U9 4 : 10% w/v STt fderd H,SO, H19-d 1.89 UTH Ufd ml & Al H,S0, &1 HeRdl 1d
Do |
I : TR (M) = faed &1 U 8 YR / SUHR x faeaH &1 3madd (eitex o)
M =10/ 98 x100/1000
M =1.02040816
UY 5 : 18 TH DN CgH,,04 200 ml ST faera # JufRyd § df HieRdl J1d & |
IR : HIeRdl (M) = a3 BT A0 T YR / SUUR x [ o1 3haH (qiex §)
M =18 /180 x 200 /1000
M=o0.5M
TY 6 : 4 UTH NaOH 500 UTH 5Td H el g , A Hiererdl J1d difod |
JW : iedeldl (m) = f[Ada 1 U\ T YR / SUUR x [dde o1 YR (kg T)
m = 4 / 40 X 500/1000
m=1/5=0.2m
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